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QUESTION 1

Which of the following statements is false? Select the correct answer.

A. A sub-controller capability is responsible for composing nested composition logic.
B. A sub-controller capability is responsible for composing other service capabilities.

C. A sub-controller capability composes other service capabilities while it itself is also composed by other service
capabilities.

D. A sub-controller can only compose other service capabilities but it cannot itself be composed.

Correct Answer: D

QUESTION 2

Which of the following is not a negative coupling type? Select the correct answer.
A. Contract-to-Technology

B. Contract-to-Logic

C. Contract-to-Implementation

D. Consumer-to-Contract

Correct Answer: D

QUESTION 3

A service\\'s functional context determines its: Select the correct answer.
A. purpose and function

B. implementation environment and deployment location

C. scalability and usage thresholds

D. longevity and versioning parameters

Correct Answer: A

QUESTION 4

| was discussing my new service with a client who told me that my technical service contract revealed too much
information about the underlying service design. For example, based only on the names of my service capabilities, my
client could determine that the service was using an Oracle database. What service-orientation principle should | apply
to address this problem? Select the correct answer.
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A. Service Reusability

B. Service Discoverability
C. Service Autonomy

D. Service Abstraction

Correct Answer: D

QUESTION 5

Which of the following characteristics is not a result of the consistent application of service-orientation principles? Select
the correct answer.

A. reduced dependencies between services

B. increased availability and scalability of services
C. reduced behavioral predictability of services

D. increased awareness of services

Correct Answer: C
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